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	1). Description of policy, including any assumptions necessary to allow the commitments to be costed:

	Achieving a current budget surplus in the next Parliament. 

"We will get the current budget into surplus as soon as possible in the next Parliament. How fast we can go will depend on the state of the economy and the public finances we inherit." Balls speech to Fabian society http://labourlist.org/2014/01/full-text-ed-balls-commits-labour-to-budget-surplus-and-announces-50p-tax-rate-plan/ 

"Mr Balls will commit to running a surplus on the current budget and to put national debt on a downward path by 2020 at the latest" http://www.ft.com/cms/s/0/eeed2a6e-851b-11e3-86f7-00144feab7de.html 

Assumptions made for costing:

· As requested, we have assumed that the opposition policy achieves current balance by 2020-21 (the end of the next Parliament) on a straight line basis from (a) 2013-14 and (b) 2016-17 onwards.
· For the baseline, we take the headline fiscal aggregates from the Office for Budget Responsibility’s December 2013 Economic and fiscal outlook
· We then assume that public sector net borrowing (PSNB) is in balance from 2019-20 onwards, with PSGI, PSNI and depreciation all maintained at their 2018-19 levels as a share of GDP. 
· Financial transactions beyond 2018-19 are assumed to remain at the 2018-19 level.
· Nominal GDP is assumed to continue growing in later years as in 2018-19.

· We have not modelled any impact on GDP as a result of these changes.

· Additional debt interest costs are assumed to be covered from within public sector current expenditure.

· All of these figures include the impact of the cash transfers to and from the Asset Purchase Facility. 


	2).  Information required on distributional effects of the policy:

	No judgement made about the allocation of expenditure within the total aggregates. 

	3).   Cost/Revenue to the Exchequer over five years:

	The impact on Public Sector Net Borrowing (PSNB)  and Public Sector Net Debt PSND of achieving current balance by 2020-21 on two alternative paths:

[image: image1.emf]13-14 14-15 15-16 16-17 17-18 18-19 19-20 20-21

Baseline

PSNB % GDP 6.0% 4.9% 4.0% 2.6% 1.3% 0.1% 0.0% 0.0%

PSNB £bn 99.0 83.9 71.5 47.8 24.8 1.9 0.0 0.0

PSND as % GDP 75.5% 78.3% 80.0% 79.9% 78.4% 75.9% 73.5% 71.0%

Adjusting from 2013-14

PSNB % GDP 6.0% 5.6% 5.2% 4.2% 3.5% 2.8% 2.1% 1.5%

PSNB £bn 99.0 96.0 91.7 78.8 68.5 56.1 45.1 32.6

PSND as % GDP 75.5% 79.0% 81.7% 83.2% 83.8% 83.7% 83.0% 81.6%

Adjusting from 2016-17

PSNB % GDP 6.0% 4.9% 4.0% 3.4% 2.9% 2.4% 1.9% 1.5%

PSNB £bn 99.0 83.9 71.5 62.7 56.4 48.0 41.0 32.6

PSND as % GDP 75.5% 78.3% 80.0% 80.6% 80.8% 80.4% 79.6% 78.4%

Relative to baseline (change) 13-14 14-15 15-16 16-17 17-18 18-19 19-20 20-21

Adjusting from 2013-14

PSNB % GDP 0.0% 0.7% 1.1% 1.7% 2.3% 2.7% 2.1% 1.5%

PSNB £bn 0.0 12.1 20.2 31.0 43.8 54.2 45.1 32.6

PSND as % GDP 0.0% 0.7% 1.8% 3.3% 5.4% 7.8% 9.5% 10.6%

Adjusting from 2016-17

PSNB % GDP 0.0% 0.0% 0.0% 0.8% 1.6% 2.3% 1.9% 1.5%

PSNB £bn 0.0 0.0 0.0 14.9 31.7 46.1 41.0 32.6

PSND as % GDP 0.0% 0.0% 0.0% 0.8% 2.3% 4.5% 6.2% 7.4%


NB: we have assumed a baseline of PSNB in balance after 2018-19. Any surplus achieved after 2018-19 would add to the cost relative to the baseline (i.e. if the baseline was a surplus of 1% of GDP, the cost of this policy would PSNB 2.5% higher in 2020-21 rather than 1.5%).


	4).  Distributional effects (if none requested, any significant):

	n/ac 

	5).  Comparison with current system (if applicable):

	· Current budget balance is defined as: public sector current receipts (PSCR) minus public sector current expenditure (PSCE) minus depreciation

· So, achieving current balance means matching PSCR to PSCE and depreciation. 

· When the current budget is in balance, public sector net borrowing (PSNB) matches public sector net investment (PSNI). 

· The government has committed to maintaining public sector gross investment (PSGI) as a share of GDP from 2018-19.
· PSNI is forecast to be 1.5% of GDP in 2018-19 (NB: PSNI equals PSGI minus depreciation)  
· In line with the assumptions requested for the commitment to be costed, achieving a current budget balance from 2018-19 would be consistent with a deficit of 1.5% of GDP. 
· Any additional capital expenditure would add to PSNB.
· A surplus on the current budget is required to achieve balance or better in PSNB with continuing PSNI expenditure. 


	6).  Other comments (including other Departments consulted):
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